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PART - I

Gpheng Cubur® wHnbd shilsed
CHILD DEVELOPMENT AND PEDAGOGY

Guuedde 30 afletranet osiera. emargg alamiaensgh oo wans Coan@io.
There are 30 questions in all in this Part. All questions are compulsory

1. 2002-60 umjrEswemé sl Qeredi® QUIILLL .ol SPEAWE FTET B

Fpppsdlauy 14 augbolulL s@abad GPHMSSEEHED @lewss o0 Tud
ssvalyb, seallld susgeiipb, soamiliysert selldsiu Heearg,

A) 86 aug B) 45 s
' C) 93 aug D} 58 eug.

Children below 14 years musi be given free and compulsory education, equality
and equal opportunities in education. It is according to the ...

Constitutional amendment of the Parlinment i 2002,
A) 86 th B). 45th
C) 93rd - : D) 38 th
2.  Qaruiyenen S| @IS EnET LDIT G0 GLIIT & &1 gmusermsGal GULCEHT &S
‘21 QT uEmUBeeTSH SeistL iy & soyb aniliss (paop
L || -
|| A uessd peop Bl Glargesdl wpomp
| i
— C)  seoiLpl apeom D} Qewsdll L (pain.
The method which helps to identify the common characteristics by comparing
the relating experience on their own iz
A) Deductive method B) Inductive method
j | C)  Heuristic method D}  Project method.
f_ | 3. ffluf aa@uat .. U6 BBEED Gurg ol fHUurLh Clelgd seamwurs
— @wUudeene.
I
L | A)  syaryd ufleygd Glaredor et
gy | B) ell@uurip sefliudlé Qndlpasneaian Qe st
!— ' : C) aSLPUUTL&mg Lsiennwrs: yehlliusur

D) =Es Foeow Glere e,
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Homework need not be burden, if only the teacher

A) has love and affection B)  is flexible in assigning work

<) is innovative in assigning work D)  possesses extraordinary talents.

Seiiue aflerbur Uevensllés 0 Wy se Geliyd uebom s Quwen) Lilgy G e et

-".:;._:.::_b.l:?-.-:f_i_} -"-:;.f'l'..."‘“j]é'-" i:gjl:'- "DNQJEU@J

A} sparer SudsBlaaynssh B]  Glane =yée Blemauyngsn

.

diflssfl o beflmaflomsyntss D) GeraGurmer B, Hlensuyndan.

salivation of some people while looking at the name of their favourite sweet on

the name board of sweet stall itself is
Al Simultancous conditioning B)  Verbal conditioning
C) Discriminating conditioning D) Semantic conditioning.

G0 aelueplld ahs SeTakes shnake wsgaldain Gé QeudufEnTe s

il

ereTIgl @meni et Clmweney BuisGlHTL iy Glenedor Herersl argl 2

Al sped graw(i smssiClurmeisa Gumneta) Elkssd

B)  wremeutseng perailel wengdlen yashaeion oy sss s
reosteutseflemiGw Glugsmeney &ramiudd Hlanaprs Swutsers Coameuser
L wremaitseng Gameusaer o diflut pag o dlmssa.

Which of the following is directly related to how much they are motivated

towards learning in the classroom activity ?

A Presence of more incentives which induce learning

B) Presence of innate potentiality in student's unconscious mind
) Unfulfilled needs of the students

D) Teacher realises the need of the students,
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[> Qurwhenss BTN _gybeh, Cewuhems gioobisansGn  Elem Guwres  @)emearien
LB :I:I_fllt'_'l;:{f,. Glewhens i evor_as
Al Bubenad gevkisep e Glurgennliu@Gssd Seueds (i
3) Qlubened ST oL gyiéhg (pedl SsefleanuL CeusorHin
C) Bluhens:g HTeoL e 5516 B)hés GeuamHn
D) Qubsss sebaendgile Bnés Geudm@b,
For strengthening the connection between the CS and the CR, the CS must
A) generalize to the UR B proceed to the US
£2) be identical o US D) be followed by the UR,
e bwraney Galsmwe Glurrener aREsTeO SiboradE Gsmul sumb  eeTLSTE
Seng g Ludoal Mg eram GIphemd, 6 enol san aug)
A &ML (LDeD) m.-gpé&ild; @G’c@an & ﬁsmau
Bl menqpenn eups@sel Ukaomsw Hleae
L IRERL (L&) a‘.-Jg}.éJ@ hlee
D)  meL(penn eUpsESEE (phensl Hlana,
.
A child doesn't take any article without the knowledge of mother, since she may
get angry. It is
A) Non-conventional stage B) Post-conventional stage
C)  Conventional stage D}  Pre-conventional stage
8. sallput oepewaw CobuRssade wedlu uie adlusrs spere o eralud

Sblat el &b Hious;

A)  dlmen mey B) memamla) Fe
Cl  warGlauapé & mey D) s wey.
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Modern psychologists feel that .........

personality.
Al Competency Quotient
C} Emolional Quotient

(PhHE S

t?’i[ﬁ]@ﬂﬂfb, ﬁﬁ)@l.mg‘:

2_(FEUT S HULIEGS
A) IDEDT GUERITLIL LD

) Gamoi afendasciu b

B)

D)

&b

B)

D)

JbigDeal

¥ e

is important in improving individnals

Intelligence Quotient
Moral Quotient.

smsgesameTyld  Gareiuufsd

Qe eflende UL b

S5 allendsliin (b,

The map/chart formed by relating the previous knowledge with the present

knowledge is

A Mind map

=y Flow chart

ZPD eredmim

Al Zeal of Primary Development
&) Zone of Personal Development
ZPD means

A) Zeal of Primary Development

) Zone ﬁl’ Personal Development

B)

D)

3]

D}

B)

3}

Cverlapping chart

Concepl map.

Zone of Proximal Development

Zone of Power Department.

Zone of Proximal Development

Zone of Power Department.

uldihsiilée eflenstudbsmyuw BighsreraGant pLdang rHnGe sbmeé serd sullueud

Al EMT e anl_ &

C) TR AL Ve

)

D)
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"Learning is the permanent change in behaviour which is the result of iraining”,

is said by
A Thorndike B Glacer
C) Atkinson D)  Kavin-Padon Major.

UL &6 Lildicus

A)  sde Hlaeynss shpe B)  apweityy seublée e
C) ol sboe D) e lem d euflésnme.

Learning typewriting is

A conditioned learning 3) trial and error learning

C) pmgrmnmg{ learning (5] insight learning.
Glrwdu 2,68 Hemallpdan oo ereor @lOCl LL@REps.

A) R-auems .gl:é,trafﬂﬁﬁaaum!mg@m B)  S-susvs =y GaEBlensuynigon
C)  A-ausme o) ssflaneu bl D) B-oumes ésiblaaynssl,

Operant conditioning is also known as
A R-type conditioning B S-type conditioning
) A-type conditioning : D} B-type conditioning. -

aes&dlel gL updlueut, apser pmelles svom i L phufin Gurg srane

rHElGatu Gledian LPUGIS ..o BHDES WTHDID,
A) Gmig B) edliweny
C) @ D) ugd.

- A person who knows to ride cycle, initially prefers the side part of the road only

after he learnt to ride scooter. Itis ..............., transfer of learning.
A) positive B) negative
; g
LY
C) Zero I3} partial
[TDOT-RE] | Turn over
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B (o)) ememT

D) Sesemer.

Type of concept formation used in Maths and Science subjects is

A Concrete I3) (i:f_‘.* njunctive
C) Abstract D]  Complex.
16. pasryen genCardl o HaITHEIL ULIGWE .. @I oyerall LwesTLESmE.
A) FD&(HES B} g @hemio
| LY L LHT 65T GLD D) %I"I'E‘,I:h.
The inventory designed by Mutharani Rastogl helps to measure
A) Self concept B)  Personality .
24 Attitude 1) Interest.
17. mro Glaruihs §EG Gurmellen g milmmq_&@'mi;@ Giodn  meueotd
Qeauds (WPIGWTE.
A) 6 B 7
) o B) 10.

We cannot pay attention to an object continuously more than

seconds.,

Al 6 B 7

€ 9 D) 10
BB} [TO0T-RE]




Download from www.JbigDealL.com Powered By © JbigDeal

gl phbngley  Garammib  Hlepidows san@. Gsaa

SiblbgieiGemrin eTebTry) SjELILTEMD BTG

s

A) IEL@L’:-G‘!:--‘[TE\I@J B) Sl @& Cemetad
) Benmiiey D) Blenanelldimssd.

Identification of an incident, that has happened earlier is
A) Hecognition B) Recall

C)  Review * D) Retention.
LGl flée Clurmer sape ppeud Ga TE&HEILFE

A} GQurmdinen Bl leveey

C) sysssdne D)  mesmemhley.
Giving meaning to the proverb is used to measure

A) Aptitude B) Memory

C) Creativity D) Intelligence.
G E&58neE Blebsaflb sramiiuLrg ey

A} lpf sameuens 2 engwre slUSGlaTeTEn s

B) Upft sanieusns saihg seusfiiud

Cl  gGpaib g Virésmaraut upf fbdsss Ol&mevoriy (h & s
D) elflflpgenen Cameimgmasd.

Characteristic which is not found in creative persons is

A)  immediately accept others' sayings

B) keenly observe others' talk

C)  often thinking about any one problem

D) to have divergent thinking,

T00T-RE |
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21,  messemibiey Lbdiu @pgwrsad Qeraians aerlufelgl

e

A epibenné anyedis: QEreaians Bl @l anyeoe Llereians
C)  uesnrewld Glemeians D) @uherremils Glareime.

"Monarchic Theory” of intelligence is

A) One-factor theory ) B)  Two-factor theory

iZ) Multifactor theory D) Group-factor theory.
22, sybhesdna e Cnmhsiud Cerify CIHMETL LG s :

A) QuUrmeTTHTTID B) B LG

) 56 & & & 6TeL D) @Qmdlpeypr seemio.

There is a close affinity between creativity and

A CCOnNOMmy B i physique
] humour _ |5]] rigidity.
23,  ep@meutiar @le FlWbd ..o, 218 ienOdr o GeueonBio.
A}l gpubhé] Bl Qeubd
C) Garevad D) péGemaphsb.

One's goal should be based on
&

A) Effort B Success

) Failure ) Moral.
24, maGaruphs cuetidlew apainy Blaasenns ughsal

A) Gin&B e B) QGaméuurs

C)  erflége D) or&Guowr,

D . [100TRE]
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Three stages of moral development have been categorised by

A) :"vi{:I_'J.uu gall Bl Kohlberg

) Erickson )  Jack Mayer,

Lﬂg;-{rbfh@ 2_gaugellds wdlpadl Qereienad aaLg

A}l werbleugpds) pdlissl B)  wenLwmimb

C)  spmeuansd walpés D) gpmeuens Grésh.
Getting happiness by helping others is

A) Emotional maturity B) Sublimation

) Type of delight D} Type of sympathy.
@lewsdlar Gewaum ey Gss SWssEDsYDL S HULESEn anmiGoed
A B|L_iMeat eblear B) mwﬁ--LmL|ﬂaas gbleht

C)  enmirédle D]  urgrgriGomest.

The hormone which controls the function of heart and blood pressure is
A) adrenaline B) noradrenaline

C} thyroxine D)  parathormone.

FpSeE@T_cubpel e QN SETELTE UTTuemss Cerdn( Spdeeh

Lmeuddlen sremiufaudlsaney 7

Al Glunplsshler wrprdsssremne yflad

B)  Gur@lsefledn ue ustysmen gy suusdles o amrtad
) 2 fliyhm Gl gl semer o Wlmefangms uralsse

D)  @hohseer syeraler syqiuest s ndidgsd.

1001-RE [ Turn over
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Which one of the following is not found in concrete operational stage ?
Al lJndérstanding conservation concept

B Decentering

) Animisim

D) Judging crime in quantity.

6 s et aubmieh B8 & S ufdhw sflure sabo &8 7

A) A B P Qewaul. HiTeso {Hib B) oL éimesens UTHISHSHTE
C)  sbdenw sefl&Edns D) el eriene ghURGHT S

Which of the ollowing is the correct stalement of fear 7

A) Induces to plan and execute B) Doesn't affect the health
| Gives energy B Doesn't create awareness,

Qearpena Ny &ers wifleoh, Glgepemaud &M HE SementauenyDd ClaumEoe

A} err@ustsemrid _ B) ol @u-Claslisguy 2 eiasei
C) UL euThlGluet comih D) o emntey suoflameuled e,

As Yazhini dislikes Thendral, she shows aversion towards Thendral' s associatles,

This is

A Prejudice B) Inner-outer group feeling
C)  Stereotype ' )]  Emotional imbalance.

afasatlenr saps QarLiusst nbniiug arBan  pHULE  Clawer DD Lezan ey

Bl e s sudliug

A)  usfrefi] B) &Myé @Hhub

C) mesTTLIT e D] smi.

According to Erickson social relation. ................ 1S responsible for initiation.
A school ) basic family

C) friend ! 1] mother.

(TO0T-RE
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31, allar, el sussmssern

A) 5.3 B) 6.8
€2} 4.6 D) 4. 3.
32. @pbosila ugldapetpr Elisefle ebais ..., LI UL 0
A) (pEED B) aumensl
) 3ylbyet] D) Glerdemy.

33, walaeallh G euid eTeiTLIg)
A)  eyeuesl, yylomrd : Bl  fladleor, eneusnsl
C)  syefl, o D) wiudl, ertsdlans,

34. Mley SLLé sratmug

Al Glsuldl 0 B) sUheg
5 Gimmadl D) ﬂ,hé;:‘.srsy;gg.

35. Geadlprt Qumpwrss simeflug

A) Flmalemarum_dy Ly D B] Sleuyrmesoni
C) Gutluygresin D)  seuremiD.

36.  seflaflllet shang eren Bjenpdsufueur

A) GiBereu Lmsvads B)  emfeve uriGugh
C) VoGuiresi of D} aprisuni(.
37 'LII'.-'_UIF]Ij_;..{J;I'_I Levsutl@ev sbLemet) GUIréd ..ocovveveiennnnns ETESTIN) LM LIeuT .
£~
Al uysGphdl ' B) 4. & s, i
£
C)  umpalwurd D)  urpdlaree.
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) eledmden D) el Geusiieflfe .
39.  gedmesnd SibGlgent Nnke winnieb
A) BT T 1 gL Bl GHETTH
) ".j-_’_.-,g.:..r;':'i | o) (E&I}ﬁﬂrr.
40. =HGussnmoig (é)‘:[j;ﬂlu BT & euy&tﬂm el
A) LBl e B} ugingf

C) LIFTTT 51T ERETT D) uswally ey,

et
par

LT B GG i BER0T SYEPSHSLILRGIDTT.
Al Yl fla mallgyf B) Gaflué sallend
() DO EHGHID S -;-uaﬁl@_ljrr ) ﬂ%-sﬂu_.llj&r'r.
42, QumEstGarc: GUOMBHD ..oiiiein e .. puem &L .
Al <2 I B) snhal
- i 7 D) mrebiE.
43. Wameui euesoiighl Hhenewsult
Aj s:_'ill'.'t Gig et B) HL_En
) GILFReUT &5t ) L@Dﬁ@ﬁl‘!}pﬁﬂ.
44, QBTG .viviicrironrnnen. GUENSLUILIHID.

Al el Bl ussg

C!  soha D &

o
&N

E\T DTS SIS R e

Cl  am D} obha.
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Al & B) = ]
C) 2wy D) 2 6.
ENB SO . iviorneinrnnis QleLETTTLIT &S ETT 0 L 601 HTeuT @D,
Al b dhue B). @bef
C) Gepflae ' D) Flordame.
o qorm ghlem @ uhHdlweurt
A)  umgdlwri B) LlrFi(EmGng&fr
C)  seolGuoasrallwmT D) Gadkdlipr,
Gurg GlwTifldg aQbHssTLE |
A} emuwe B)  upees UDBSS
C)  Hleud I D)  Sybswmed,

2kGs Ftug urhcGur 7 & ACET 1 e alierayeug
Al sypfladlemm B) swellerm
C) ydlwrelerm D) Qarendvallenm,

eser Quwr Lesoré ) aldlsel

A snih g ; B) 20
C) g B} R b
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A)  dlamemenm B)  cuenemius
L) . gg@. D) EmLILIGHT,
54. G‘&mfgﬁmunﬂaﬁw Gena
A} gereré B) Qeliug
Cl oymald ' D} g,
55. GHLUL QNTHG .....ccoooecoen. UL ES SOIbeTaN RS e cpeiT).
Al urydlamess B)  urgdlwrt
C)  agaw D)  euneflamrse.
56. dlparsssms shdlasdis Gumfl Quuisseart
A)  erresLrCiGugh B) sbledsreaim i
C)  eluamiGumr : D] gl . Guml,
57. unsslemermme Glomgsn
Al usreflgesm B)  al(
C)  usa D) gbg.
58.  e.cumn@ws sl QUTGeaTl CQUD @EUIUS .o, 2@ S0
Al shefiuCubp sl B) Uflg Gurflsees
C)  Glurmer Bleeaumdlanewssd] D} ez suewwesi.
59. Gluesmurales cusnssmeh
Al am B) el
) mha D) preg.
60. GemglL @) s Hlyuys
Gosdlpritlesr GUHOLWT <...ovveeveienn,
A)  meurfleCseurt B) 2 ggsuwGempliucieueut
C)  Glebeus Caddlpri D)  QgremLidi uyeyeur,

[D]
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PART - III

ENGLISH

There are 30 questions in this Part. All the questions are compulsory.

Replace the italicized word in the following sentence with the correct phrase

chosen from the options :

L am not going to tolerate their smoking any longer.

A) pul across B)  put up with
C) pul out D)  put off.

Pick out the word that can replace the italicized phrase in the sentence given

below :

She went for him with a cane.

Al approached B) iroubled
) lifted ) attacked.

A piece of dialogue has been reported as, He said that he'd come later. What

would be the exchange used in the dialogue ?
A) I may come later B) [ come later

) I'll come later ) I came later.

( Q. Nos. 64 to 70 )

64.

Fill in the blanks by choosing the right options given along with each question !

Her father won't come this time, ...oo.ooovvvviiviinins, ?

A will she Bl won't she
C) won't he D} will he,
They play cricket every SR, o
A) aren’'t they B}  don't they
C) are they ' D}  didn't they.
. ' '__'i__-i:lq_l'-féf?i [ Turn over
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A met 3 meets

C)  had mel D) have been meeting.

A notice was exhibited .........ocvvveen... the notice board.

A) in &) al
) Ol D) with.

68. She has been waiting for him ... two hours.
A since B for
C) by ' D) of

69. A poslman is ONeé i delivers us letters.
A) which B}  what
C) who | D)  where.

70. Before the bell rang the students . ...oooewvvnens the hall.
A) had left B) leave
Cl  will leave _ D)  are leaving.

71. Which of the following options would correctly fill in the blank seen in the given

dialogue ¥

Teacher : Hello, Smitha ! How are you ?
Smitha : Fine, ma'm. Thank you.
TEROHBEED | vy e 2 AL 0
Smitha ; [ was not well.
: M) Where were you last week 7 I3) Where did you last week ?
e
-
C) Where was you last week ? D] Where do you last week ?

B [ 1001 RE |
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A) making a request
) seeking permission
C) giving an advice

D) giving direction.

Which of the [ollowing is the best instruction for asking children to bring their

textbook everyday ?

A You must bring your textbook everyday

B) Please bring your textbook everyday

C) You should bring your textbook everyday

D) You should not come to class without textbook.

“No, Murali doesn’l want to leave early.” is the answer to the question
4) Did Murali want to leave early ?

[3) Do Murali want to leave early ?

C) Does Murali want to leave early ?

) Has Murali wanted to leave early ?

Suppose you want to teach the word ‘Pat’. Which one of the lollowing is the

ecasiest way to teach it ?

A) Drawing the picture of someone patting

B)  Telling a story in which the word 'pat’ is used
C) Using -the word 'patl’ in a sentence

D} Showing the action of ‘patting’.

| 1001-RE | [ Turn over
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Read the passage given below and choose the besl answer for each ofl the

questions that follow ;

What writers struggle to express through numerous newspaper columns: the
cartoon manages in a pointed one-liner. Liltle wonder then. that the first thing
most of us like to see when we pick up a newspaper is the cartoon, Simple
though it may seem. making a cartoon is an art thal reguires a combination of
hard work, training and a good sense of humour. Cartoonists say that the
cartoons that make us laugh the most are in fact the cartoons that are hardest
to make. Even :;‘.vl{:'r}t_'m{-rd cartoonists like R..K. Laxman admit that making a
cartoon is not a piece of cake. Laxman says he has to wail for over six hours.
which includes spending alol of time scanning newspapers and television

channels belore any idea sirikes him.

How does one become a cartoonist ? There are lew colleges or schools for

" cartoonisis. Established cartoonists are of the view that no institute can teach
vou to make a cartoon. While basics, like drawing and sketching can be learnt
in an arl college, these alone will nol make a good cartoonist.

76. What is the typical quality of a cartoon ?
¥ A) Elaborateness B) Vivid details
) Sharpness : D) Simplicity.
77. The greatest difficully cartoonists face is
Al setling an idea : [3) giving a caplion
C) publishing " D) akell{thing.
78. Whal are considered as the basic qualities to become a good carloonist ¥
Al Training and hard work
B) - Creativity and sense of humour
v . : 33 Hard work and humour
#] ;
8] Art schools and colleges.
| D]
oy B
:A-..-..-.-.- 'F-.-:::‘. =




Download from www.JbigDeal.com Powered By © JbigDeal

Who are the ones who hold the view that no institute can teach you to make a

79,

cartoon ?
All carteoni &;i.:-_a
13) All well-known cartoonists
62 Mosl of the cartoonists
B Every carloonisi.
80. The major source of ideas for a cartoonist is

A newspapers B Lelevision
C) history ' D) media.
81. ‘Little wonder' means
Y, some wonder B) full of wonder
C) no wonder D] a litlle wonder,

82. Pick out the word from the passage that means. ‘two or more things joined

together to form a single unit’,

A Nnumerous | 51] celebrated

Cj admit ' = ] commbination.

83. Find out the odd word from the ones given below :

A Struggle B Say
C) Sense D) Simple.

(s
.
[

Pick out the sentence that is similar in meaning to, "There are few colleges or

schools for cartoonists”,

A) Few colleges or schools are there for cart oonists
B) Colleges or schools are few there for cartoonists
C] Few are Lthere for cartoonists colleges or schools
D) Hew carloonists are there in colleges or schools.

D | 1001 -RE | [ Turmn over
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Tee simlar m meaning Lo, "These alone will not make a good

cartoonist’,

A) A good cartoonist alone will not be made by these

B) A good cartoonist will not be made by these alone

C) A good cartoonist is made by these
D) A good cartoonist is not made alone by these.
86. Which among the following is not associated with a ‘word’ ?
A Syntax Bl FTdnum:iatiﬂn
C) Synonym )] Syllable.
87. Which of the lollowing sets of words has more than one category of words in it ?
A} walk, swim, jump, moan
B) happy, power, slow, weak
) {lclcyminud, tall. strong, clean
Y}  beauty, sight, honesty, intelligence.
88. When you read something quickly in order to lind the main points you call it
1 A) slkimming B}  scanning

) intensive reading 5] extensive reading.

89. Pick out the correct pronunciation of the word italicized in the following

sentence :
The sport has a strict code of conduct.

N / ko ndrkt / Bl Jkondikt /
C) / kdndnakt [/ : ) / kandikl /

90. The number of syllables in the word ‘beautiful’ is

ﬁ Al four B) two
C) five D}  three.
| D | [ 1001-RE |
A B
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@uugsliiles 30 ellerssei 2 aanc. Hyoarsg) allarmémended elle welflde Couen@in,
There are 30 questions in all in this Part. All questions are compulsory.

91. en wslasramadldr Usskser a, b, ¢ eelld
A) a—-ho>c¢ B) b-a>c
C) c>a+h . D) b<e+a
If a. b, c are the sides of a triangle then
A) a—hs>¢ I3 b—a=c
=] c>a+b D) Breica)

v |
92. g Jaransdler Qargdliflayn, LeSlfleud a1 gmé sl Gib Curg o@e el =

8Gs Gures Carediflan, uadldleyn sres 1 ;s shlEEnhCuns oze wdlly i—

erenfléy ppen Lleenrin

A S B i
5 5
) = B l-"
4 7

If one is added to the numerator and the denominator of a fraction, then it is

2 _ , o
equal to e If one is subtracted from numerator and denominater, then it is

1
cqual to g’ The original fraction is

K 2 B =
5 5
oy 2 Ly =
4 T
[D] ; 1001 RE| [ Turn over




TNTET (RE)-1 42

Download from www.JbigCea' . .coiti JoigDeal
ClumdsEenens 10800, aaild eubhmlens g i d
A) 2100 B) 240
£y 225 D) 180.

§ T

Two numbers are in the ratio of 3 : 4. The product of their LCM and GCD is

10800. Their sum is

A) 210 I3) 240
) 225 [3) 1 80,

94. AABC edgue  APQR  genbu B, G- (@) fu (B T GoaT (Lp el QamCairson
(G aTeamniiser. GG AB = PQ: BC = QR aallé diphareo sl ez el eLpeulD

Seney #iiel ol ?

A 555 3] RHS
) SAS 1) ASA.
~ ABC and POR are two right angled triangles with right angle al B and @
respectively. If AB = PQ; BC = QR then under which of the following propertics
are they congruent ?
A) 5SS B) RHS
) SAS Iy ASA.
95. 8 Qural el o ée allow 10 Gurelsalld albeh eflamabg sol aalle by
g g6 HiD
A) 10 B 20
4 ) 15 | B A
[D] [1001-RE |
,\_‘\_'4 e T e ,._.,_ﬂ__._.._.__m_ o s
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percentage of loss is

A 10 ; B) 20

b I 1 Dl 25

108 sn e‘-?;_i“:.g}) Flihw o7 e enormen Gl & PDSHETD SED ?

ke

A) 2 B}y 3

C) 4 D) 6

Which is the least number when multiplied by 108 gives a perfect cube ?
A) 2 Bl .3

C) 4 D) &

gleogalpsdl et cuaguL 2 usTensEh@ o sryesih

Al &illhh LIGUan s B) usliu@asouc e s bl

Z] EUGTITILIL (D I3 -.Jfﬂax IRITLT,

An example for non-projected graphic aid is

Al Magnetic hoard ; B) Specimen
B Chart D) Tape recorder.
T GooT Gt S i 6t Goemeudgn, #lmenin fin FHmEUTM) LUTL el (5 £ &) 5 7 607 11

asfleonlldlphs sgarsddieg ofopad Gelsd. @ag ur-sdlle ool

2SI (P STV

) BT &S (P

B)  wlermsdsie (paom
) &r \l__J,;;?_:-:'ﬁ-' obmin emiEmn S (L emir;

) FemeuliL |Eaﬂ.f? b (Lpenm.
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100.

with the needs and capacity of the students. Here the approach of curriculum

Grganiﬁatiun is

A) Logical approach B) Psychological approach
C) Spiral and concentric approach D) Topical approach.

40 6 15% arediiig gpit areimrenlett 25% ol 2 edlan erafld oyeubleucn
A) . 16 8) 40

C) 55 . D). 60.

15% of 40 is 2 more than 25% of a number. The number is

A 16 | B) 40

) 5b 2} 60.

:E, % X % %rm @em_flene 5 eredildy x eTeiiLig)

A 256 B) 20

) | 1h ) 10

The median of the scores ) X 2 is5. Thenxis

4 2 5 3
A) 25 B) =20

C} 15
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G i< o 3

- i el e

& untiuene) 8. Gle b &
s B) 148
Bl AR D) 111.

The difference between the circumference and radius of a circle is 37 cm. The

area of the circle in sq. cm is
Al 154 3] 148

) 259 D) Til.

Qe 18

s whmp 26 Glsad.

-

102. spm Qesusussdlan  Herd, Symeun (pepbu 40
@l Csclousddian LsaRsetls  aowlisiaasmen wepGu Eememiignds gouEE

STLEETHET UTUILISTEY «ovoovverer . 018 15 S4B
Al 1040 B) 2080

) 260 B} 520;

The length and breadth of a rectangle are 40 cm and 26 cm respectively. The

area of rhombus formed by joining the mid-points of the sides of the rectangle in

BT EE S ol e

A) 1040

C) 260

8q..CIR.

2
3 45

A) LR () LiedaTy

) Llombn Legor

b =8

B)

D)

ipéaemTLeupbléy

B)

D)

[T001RE]

2080

520,

e ST I T o g A
'-’;5|~mg;j &llheh LIGTOT LRl etk h| hnITL AR T

L 6 LG L

sipent) LI
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5 3 < T VIRET 45
A) Distributive B) Closure
) Commutative 0] Identity.

56 eRullL amneafsme o aer Garallaeer 2, 3, 4, 5 by 6 Buflb suwrs
uBEHDh Curgl peblaur WennubD GG Caredl Wawrdlma. Cuhemesr [Kluhseneenu
Hleope) Clabuyn 56y Caralineilcn o awlaHams

Al 41 B 121

C) Gl D) 181.

When a certain number of marbles are shared between 2. 3, 4. b or 6 persons,

cach time one marble is remaining. The least possible number of marbles that

are shared is

A) 41 B) 121

C) Gl ) 181.

5. 6 GPLIlL Qstes 5 a@Liseld m. 6800 sysap Gogid 3 GuBL BB ETIE)

5. 6,080 sy oat wpélie) s dlng. aafla waslh .

A) e, 1,800 _ B} ¢x. 5,000

=) ey 3,600

o .
e e
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3 years respectively. The principal is

A} Rs. 1,800 B) " Rs. 5,000

) [is. 3.600 [ Rs. 720).
106, 7 erebim @b semnils Caremeullen 2iHHE

A) 7 Bf © x

C) 1 ' ) 0

The degree of algebraic expression 7 is

Al . ¥ B X

& o D) 0.
107. a+h=7whnbd a-b =3 aaflé ab & wiliy

A} 10 3] 40

C) 4 18] Z1

Ifa+b=7anda—-b =23, then the value of ab is

Al 10 B) 40
) 4 D] £ 1
108. smadissdle @predl 100% wgfluGumnset GluppererTm. @ conllemw  qill

Gure® 20% geepeurs Gubreiame. @)FTerdend il urrs 20% siflewns

Quibmyefrener. erefie Lumys Gubn wHLGLIETT e
A 100 B) 120

) 96 D) 84,

D [1001-RE [ Turn over
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tani gol hundred per cent marks in Maths. Raju got 20% less than Rani. Bharat |

=

gol 20% more than Raju. Marks scored by Bharat is

A 100 B) 120

) 96 ) ) 84,

. gpmeut epp eurblemeatll GuUl wew oyset allbuens allaneuen % T AT Y AT

2me elbusmer el ol 8% sflatu@sd albori. seflld e Gubp GG

gaalaib
A) 3 Bl 10
C) 18 [3) 20,

€
A person purchased a radio at -l%th of its selling price and sold it at 8% more

than its selling price. Then his gain per cent is
M) 8 B) 10
C) 18 D)y 20,

. G wremeudT seiigalua ybsahmamen LILS%e, swilsl Ldlismen Sidac, neafls

allenmdaenag aoilu, @née aufiseila dia eraud - G @hléegn S
Al & asmhleney B) G S &ID
C)  wdliy D] eyfeub.

The pupil reads literature on mathematics, solves mathematical puzzles, gives

short cuts for solving problems — these are the specifications of the objective

A) Attitude Bj Hahit
C) Value D) Interest.
I001-RE |
e e e e i

e
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A) mggiuf_aum Sieflé@h wenn wonib Gl aemyueny

Bl  Gaiey wdliGuetsr ameflesr U@;i,g}rm‘..l;q, allenéain

C)  pyeymener Glumige

D} ellen_gamen whlondm.

The final aciivﬂy for the teacher after administering the achievement test is
A) Preparation of scoring key and marking scheme

B) Analysis, interpretation of test scores

) Drawing conclusions

D) Evalﬁatic:»n of answer scripts.

uTL SAIC L Seng 0SS oy tive e SEUGD (PENDEDL 2 (T HEIUELIT

A} J F. Qamdufl B)  Quesgflen S. Leemid

C)  Gugrdflur wrifeen ' D) R. H. Ggeu.

Evaluation-based approach to Lesson Planning was developed by

A) J. F. Herbert ; B) Benjamin 5. Bloom
1 Prof. Morrison D) R. H. Dave,
[ Turn over
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ehitlae ol (B ol erené seio Gl Seciul e g aamGey efiwmen agmedi
Ad 13-8 B3] FG=2
c) 15 D) 154

The average ol 25 values is 15, On verification it was found that one reading was

wrongly recorded as (=15 instead of [ 15 ). The correcl mcan is

M) 138 B) 16:2
) 15 [3) L5
114, uude ApsGameatiD i GHTEOISmaL ClLnpibs B aond FLEST o _sfers.
M) 80" 3) BO°
B 120° 3} 1308,

An equilateral triangle will have rotational symmetry ( angle of rotation ) through
Al 90° I3) B50°
) 120° ) 180°.

115, cpp AABC & areiiug) mZA gyeog msB el 18° syflab. BC o BBk Gurg ghu@il

Glevetlé Sammeoond 116° arafles maiA =

A) ]0° B3 67°
f | .
4 ) 49° B - 985
L [1001°RE]
,_‘-‘“ e —— - = = —-,_h.d_:_—hqi_—.-—_.-_fu_w
. — - ==
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angle formed when BC is produced is 116°. then 2 A is
A BO® B) 67°

c) 49 ' D) 98

114, [4'59 x 18 + 36 + 5:4 & él.ll‘l’&'-lb —%)E&ngﬁiu_{.

A} 4-685 : B) 2:695

C)  3-259 D} 2-596.
. L RS

[4*59 *1'8 « 36 ¢ 58 of = -Zis

. 9 5

Al° 4685 : B) 2695

C) 3259 D} 2-596.

117. &Gy Clerfasiul Geiarasusefles efi aubLi S{VT HEI 6THI ?
A 1604 B) 1800
) 2000 D) . 2008

Which of the following is not a leap vear ?

Al 1604 B) - 1800
) 2000 D) 2008
LD_' [100T-RE | [ Turn over
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T ¢ w . . . e B . T
adlefEdne. 2oy Gueia uke: adlen ey blaILRSSIeIBDE (e

|

A) 62 Gle B3) 12 Qa8
) 5.5 @a i ) _15(::1&.u€.

If the side of a square is increased by 4 cm, the arca inereases by 60 sq cm. The

side of the square belore increasing is

A G2 cm Bl 2 -cm

] 5:5cm 8 1] I'5 cm.

119. 1197215a6 aem sam 11 oen dldlsndl sugu a &g GarHasiiuL fhagw Wblad

SeoInE & (Deh|LIL| Sretienl 3

Al I} B 3
C) - ) i

What least value must be given to a so that the number 1197215a6 is exactly

divisible by 112

) | : I3} 3

F_T'l

) 2 [

120. pelfen yerefilluellen shens

A} ROA. Oleg B) Grlen Gll-euamiiL e
C) glyreybigeieu D) AsrGangey,

Father of Modern Statistics is
A R. AL Fisher [3) Rene Descartles
Pythagoras.

(] Eratosthanes 1)
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o o T A L . . n . - = il =il 1 1 o~
@y gdliiés 30 allanéae o aene. 2| 60 61T & &) cllesim e EnaED allem:wellise BauamEir

W

There are 30 questions in all in this Part. All questions are compulsory,

¥ [y Ll . R L1
121. e ygimnrs o efen LSl @jeves sumiy

A) ariuesan_ o &Henen( Bl eGamet
G G E ._%é-.mam@. 1) &G rjgga‘c'sr_

The mosl abundant greenhouse gas is

A Carbon dioxide 13) COzone
EZ) Mitrous oxide ) Hydrogen. ¥

122. sablipmo e yapGuibs e Gflu blg suern

A} wedtammi £ Withy 1Blmeaenid Bj L3 T emiD
C)  (awemen D) Guiflwmi,

The most famous Bioreserve in Tamil Nadu is
A) Mannar Blosphere Reserve B) Sundarbans
) Mudumalai D}  Periyar.

123. yeildles »efen Glwras B enale., meelflen afapéan®

Al 3% ' Bl  50%

] | 0% L) 0-5%.

|D | [”—"“” Rl_' | Turn over
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Of ihe total water available on-earth, only .............. 18 fresh water.

) 10% [ 0:5H%.

4. gflippr@ =ye Gleea Sheefles bipe S bmeflld L. 8 HOWHS

&L emen @ (DeTenpl

Al veypdi Ceallégh e ¢h) - B)  @arL Bleémeupmdl ( UPS }

C)  @ellieTge ausg D)  eurse Himdah e,

The Governmenl of Tamil Nadu has ‘made it mandatory for all houses and

buildings in the state to install

A) rain water harvesting facility B) UPS

) air-conditioning facility D)  parking facility.

125. wybst e, elasry allaenLILmE s wihmis elewkiE §1TEUTRhEnEn eriflliLs e

s oL T h Lemallaime ghufn alanenea
[.J i B L,

M) seurs Gommentmyshel B)  emumiiy

C)  ybpEETL D) anbésd.

The smoke produced by burning of wood and agricultural by-products and

E’I.I'l"ll'.l'iﬂlﬁ Elllllg cake carn cause
A) respiratory problems 3] typhoid

| CANCEr B fever.
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e (Lo e suerdédldmman madl HTEE. gn i in 1992 & O TR TR 1

% | Sl STGLIGLIT T ,_5’;,&3"’:{_

A Busdy sl snmiiy B) SUETET L 6T Snl L eminiiL
C) CAMBA D) yed 2 &4 wrprd.

United Nations Conlference on Environment and Development held in 1992 is

informally known as
A Basel Convention B3] London Convention
) CAMEBA ) Earth Summit,

T o] Py vl i Dqacgun e & e TN S o U . IO =
Capdlu alensGlmraransilles apsdly Gam LT ()

Nd

A (DT EUETLIT ST B LD EA6TYETT LT SiehiT s 5 6

C)  &hoimlpey soflare D) esmeusT LMLy,
The principal aim of the National Forest Policy is to ensure
A Conservation of water 1) Conservation of trees

Cl Ecological stability D) Conservation of soil.

B)  srfsemen o kel Sumaan

) ST (REHemen CUSITIT &5 60 ) smeaumosd,

Cutting of trees without planting new trees in return is known as

Al deforestation 3} alorestation

C) growth of forest D) fertilization.

[1001-RE] | Turn over
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Gurg ueply Blosesl Gundlng. Geeydfl

Al udell - B Gleul (Rédlet
C)  edorep D) U&@&ﬁﬁ@.

An organism which turns brown when it moves slowly on a bark or on the

ground is
A) an ordinary lizard Bl a pgrasshopper
) an earthworm D] a chameleon.

eflp Qapfl. udysenhe uhars Gos LusTLEsEmTe 40% Weiabpaes

Gl éaeurin
A) @ Tl @G}ﬂ B) s
C) Qg bleaupmidl [ UPS ) D] @pe allensg.

By using................ instead of bulbs. we can save up to 40 per cent of

clectricity. i
M) Sunlight < B)  TBattery

E) Urs D) Tubelights.

. gow allmaalsssmqu s floseamns appsope odsn urdssiubeshemear
T ] &7t

A) STH) BIrsr LIRS
Blevdhgiy B wrsUbSe
mlevliuniiy 2y &dlmbliy syfleflsesd

EUI'I'IE'QEISH.__I'!} Flemméme.
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BH10GH seEion s environmen Ll effectiposed by hazardous wastes| i3[s (b= |-

A) air pollution

B) contamination of ground water
| increase use of land for landfills
) destruction of habitat.

132, @kdlwuralla dle Curewrs Gleustendsma umdl&EasuUCL okl

A) o gdly SnCasld B)  Jesmi
C)  sblprrd D)  subdly wrbleb.
In India, .............c.ccce... is considered to be amongst the worst flood hit states of

the country.

A) Utlar Pradesh B] Bihar

) Tamil Nadu . ) Andhra Pradesh,
133. 2 a5 genaller bls oflewres sremiiufh Curblayssn

A)  eflwener Qeugiiy Bl  yull ol

) ihleod s ifley D) GleustenuGlLmes.

Globally, the most prominent disasters are

A) Volcanoes B) Earthquakes
) Landslides D) Floods.
[D] TO01-RE [ Turn over
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Elaiu haallll  BTETGaasHUTs:  (Iflésems. Eeunmien ea  sifin é‘wl;_.lr;ELL- hlienidg

ST REGISHETLL THD 3

Al dlemmeug & eplisen B)  seiteimg

) s Besimmn D) amie m1fle).

Garbage can be pul under four categories - organic, toxic, soiled and recvclable

Of these example for organic type is

A plastlic bags B} glass

C) metal [0} wvegdetable peels.
A F G i S Ln sy BHis e

B} sdrendsener ol Glerenamadallnsnc:

C)  gaflba wemie Clemerenad

) SUGLIE LD, @mmﬂiﬁu@lg,a’u.

What is not recommended during an carthquake ?

Al

Take shelter i) Stay away from windows

) To hide (B RFun outside,

i ; | e -\ b e - : ; - T
Y& eumlibg srewanrellar Clurslleurer Carbnn Ganhssnes s

Al sGare S ia) wanmsd
3] Sjbley nem|p
) 2oend CeulILIpILE 6

srReaoen opfidhsc.

1001-RE
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eduction in the brighiness ol the famous Taj Mahal Is due Lo the
) Ozone depletion
B) Acid rain
) Global warming
) Deforestation.
137 um.mgpﬁ-"r Caaflssd woidluorashe sy

A} gellleunts SyewtiHiD wepni oidlsiflsse

I3} welluring whnih Blevkag i wd L ib @ongse
<) SYETEnT (DM h?\_,ﬂ}l]jglfl" WL D @HEnmae
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The need for rain water hP.:'ﬂl:-;tillg is because of

Al cxcess of rain water every year

13) decrease in surface and grcmnd water level
) decreasein dam and river water

) excess waslage of rain water.
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Which one of the following is the most appropriate reason for wildlife ™

extinction ?

Al Overgrazing B) . Natural calamitics
C) Habitat destruction D) Mining.

hel . . - - . .

meudlifl @it et LT EBTHSLILED @)L b

A) <2, EOCTTDENGY. ST Suli &7 eooTT euilD

[3) FHEnG TR eueoelleukig, 8 TemTeowid

C)  apgwenen euerz Wl &7 eoommaulib

D) @idlyreridl euare W g resnmenwin;

Nilgiri Thar is conserved in

Al Anaimalai ".Ie'-i’ilf_ifill? Sanctuary

I3) Kalakkadu Wildlife Sanctuary

) Mudumalai Wildlife Sanciuary

8] Indira Gandhi Wildlife Sanctuary.

@lawdoms shilueaien GyeuL B L aib

A} lieemon : B  Quflariguwis

C) euur@nl L _ D) BurrGuolor.
The hieart is covered by a protective double walled sac called
A) Pleura B) Pericardium

2] Piamater 3} Duramaler.
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Greenhouse gases prevent most of the outgoing

surface and lower atmosphere from escaping into ouler space.

A) ultraviolet B) gamma

) micro-wave D) infra-red,

mitdg saimeammbiles Goudli@uwm

smendliun srruSarl I3} g

C) - eredflub manlgrseme( )

Chemical name of slaked lime is
A) 13)

Calecium carbonate Calcium oxide

C) Calcium hydroxide D)
(&l 0 &
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) all animals in wilderness

3) all plants and animals in wild

C) all plants and animals growing wildly
) any living form in its natural habitat.

s & dagw @uben s apeub

M) el et B) LD TS0 60
C}  mw D) ugw ef@uTEerser.

An example of a renewable resource is

A clay B} sand

[0 water : ) fossil fuel.
yedhbler gpGamed 2B Cuellgaleme ghuln Saow

A uedlurodar spmefl Geutuglenes L lugwrs sflaflsse
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D) gime Lefliurenn LGUUGLTS 2 HEaISTE SLOBT L LD 2 WHEe.

“What is the harm [rom the depletion of Earth's ozone layer ?

A) The average temperature of earth's surface will increase gradually
B) The oxygen content of the atmosphere will decrease
C) Increased amount of ultraviolet radiation will reach earth's surface

) Sea levels will rise as the polar ice caps will gradually melt.
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World Environment Day is celebrated on

A 12ih June [3)
) 8th June I3
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The lowermaost layer of the atmosphere is
A)

stratosphere B3]

) troposphere D)

Geulbl| eretLig)

A) 2fl 2 g B)

¢} 2df ysdeimmsell D)

Neem is a

A) bicfertilizer 3]

) biopesticide ; 3]
[TOOLRE]

TNTET (RE)-1

s e
s O
erifxatr 20,

EVET YA

Sth-June

20ih June,

Glai Gumenoclw

DL 15 emr el

thermosphere

ionosphere.

FenendGlmmeusyl

e
13 \. c‘:-| n.-ln_..

LLeher

herbicide

fungicide,

| Turn over




TNTET (RE)-1

Dowmloadiftom hvlkivbatiiezii JbigDeal

e DL HEVENE (RS ETTGID -
Al emlgger B)  &duur

C)  emruem . D) umsvurge.

London smog was caused mainly due to excess of oxides of ................ i

atmosphere.

A)  nitrogen . ‘B)  sulphur

C)  carbon ' D)  phosphorus,

! m@aaﬁ?(ﬁm(ﬂm.tﬁl&ﬁ@uﬂm SHTHMERaI’l LI eneus! @@é@ﬁn_m
A} seblBurireflum B) . - suamleumhg
C)  @pgun D)  GQl&keugmen ..
The world's largest wind farm is located in
A) California B}  Scotland

C) India | | Texas.
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. AnsFor Book | AnsFor Book | AnsFor Book | AnsFor Book
Question No

A B C D
1 A B C AC
2 C D B B
3 D C A CB
4 B AD B D
5 A B C AD
6 AC C A B
7 B B C D
8 CB A A C
9 D B C AD
10 AD C B B
11 A A B C
12 C D D B
13 A A C A
14 C D AD B
15 B A B C
16 B AC A A
17 D B C D
18 C CB D A
19 AD D B D
20 B AD A A
21 A A AC A
22 D C B C
23 A A CB D
24 D C D B
25 A B AD A
26 C A A A
27 B C D C
28 A D A A
29 B B D C
30 C A A B
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129 A D AB D
130 A ABCD CD D
131 B B D AB
132 C BD CD AB
133 AC BC A ABC
134 AB AD D D
135 CD B D ABCD
136 D A D B
137 CD AC C BD
138 A AD D BC
139 D A C AD
140 D A ACD B
141 B B A D
142 BD C AC C
143 BC AC AD D
144 AD AB A C
145 B CD A ACD
146 AB D B B
147 AB C BD C
148 ACB D CB AC
149 D C AD AB
150 ABCD ACD B CD
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